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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those

printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. For the objective type of questions, you have to choose any one of the four

alternatives given in the question, i.e., (A), (B), (C) and (D) and indicate your
correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number

anywhere other than the specified places will lead to disqualification of the
candidate.

5. (a) The Question Paper is Bilingual, i.e., English and Hindi. However, if you
wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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6. Candidate will not be allowed to take Calculator, Mobilc_a Phone, BluetOOth
Earphone or any such electronic devices in the Examination Hall. )

7. In case of any doubt or confusion in the Question Paper, the English versig,
will prevail.

8. Write your Question Paper Code No. 69/MAY/4, Set [A] on the Answer-Bog,
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(316)
fime 03 HOU® ] 1- [ Maximum Marks : 80
W:Sﬁ‘ﬁ] [ it : 80
ote (i) This question paper consistjs.“igf; 46 questions in all.

i Al questions are compulsoxzjr;;;
(i) Marks are given against each question.

(iv) (@) Questcion Nos. -1 to -16—Multiple choice-type questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 17 to 20—Objective-type map-based questions
carrying I mark each. Questions for visually impaired candidate in
lieu of Question Nos. 17-20 have been given. You have to attempt
only one of the given thoices in such questions. Question Nos.
21 to 30—Objective-type—questions carrying 2 marks each (with
2/4 sub-parts of I mark each). Attempt these questions as per the
instructions given for each of the questions 21-30.

(c) Question Nos. 31 to 40—Very short questions carrying 2 marks
each to be answered in the range of 30 to 50 words. Question Nos.
36 and 37 are map-based questions. Questions for visually
impaired candidate in lieu of Question Nos. 36 and 37 have been
given.

(d) Question Nos. 41 to 45—Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(e) Question No. 46—Long answer-type question carrying 5 marks to be
answered in the range 0f%80 to 120 words.

M) e i e 46 T b
i) weht e ofad B =

afJnnati Edu@étivns:-
899436384, 965427927




Fe
Wﬁ@rlﬁlﬁ—mw%m(MCQs),Gﬁml .
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(iv) (=2)
(b) w@17ﬁzomm%mmmmm,sﬁml 3
%lg@aﬁawﬁmﬁhﬁ%%{qwé@? 17@20%@:1:11;;”?%%%
STa=r ¥Y wet § faw w@ fameedl d @ FES W BT # IW Sar 8 R
21 9 30——==gE S H T, S TAFH 2 3H Bl 8 (I 35 FH 2 /9 3o F@If-‘&a
ST )

TTer) | I uva & forg fag e AE= S TR 39 9= (21 | 30) F
(<) Wﬁwslﬂmzw%aﬁ%mm%w,%ﬁmsoas
ﬁﬂéﬁé‘lmﬁ@mss@37mﬁammw%lgﬁaﬁaqﬁmﬁh§
F forg wva ST 36 wS 37 F = 9T w4 @ e &)

v HS=aT 41 O 453 3k 5 SHTd Sk ok 93, SEek 39 50 | 80 =

(d) =
qFH 23 B
() =39 H&EIT 46—5 3Ah h1 = —39dd IHIX =H1 92, ass1 39T 80 | 120 =
= 291 81
Answers of all questions are to be given in the Answer-Book given to you.
The
to 2:30

(@3,
It oAl S 39T ST9shr & 1S IT-gisser #3 #1 FE)
15 minutes time has been allotted to read this guestion paper.
Froim 2 1'S=pirnd

(2)
question paper will be distributed at 2155 *pETI .
p.m., the students will read the guestion paper only and will not write any

answer on the Answer-Book during this period. ]
=g 9T —99 =Bl 9@ %k fag 15 fEae w1 wax &= =r 20 g9-9=3 =»T faageor 9=t H
2:15 =31 fopaT ST 5-15 =57 ¥ 2:30 NS 96 ST haoT GIT—9= =BT 9 ST 59 FHY

W,

F AT F ITX-—gETHT 9T HIE IO TJ& faET
il

Which of the following is an example of a contimnental plateau?
£ Mexican plateau

Patagonia plateau

1 L

(A) Greenland plateau
(D)

(C) Bolivian plateau

T=tafaa 8§ @ Sl9-—o7 mEEdiT 93 BT T 3EET 87
(B) #AfFTsht sh1 931X

(A) ITES= gac
() ==t =1 g= (D) ﬁz‘rxﬁﬁzﬁ- HT 93K
at [ o n ﬁl I IIIIIIlIIllIIllIIIIIIIIIIIII
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5, Hwang Ho Plain of China is an example of which type of plain? 1
(A) Eroded (B) Structural
| 9 Depositional i (D) Delta
aﬁqmmﬁlﬂmﬁﬁam%ﬁmmmg?
) (B ¥
o D)

3, Which of the following is the most important cause of soil erosion? Select
the most appropriate option,

1
(y Transportation (B) Precipitation
(C) Condensation (D) Permeability
gt % %@ w1 Foafoien 3§ A-w v @ w27 @9 e R @
T HI 5, §
(A) AR = (B) =dw
) g = (D) W=
(4> Read the following statements related to continental rise carefully and
choose the correct option : 1

}/ It is the link between the continental slope and the abyssal plain.

Il Seafood is obtained entirely from the continental shelf.

& It is a landform which formed in the oceans from sequences of
continental mass.

IV The slope gradient of the contlnental rise is less than that of
continental slope.

(&) Only I, I and I1I are correct

B) Only 1, 111 and IV are correct

M Only I, 11 and IV are correct
(D) only -II; IIl and IV are correct
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Hifvra

I¢ %Wﬁﬂsldﬁ(ﬁddm%@aﬁﬁﬁ%l

[ @ o gl @e TeRdE qa (Je%) § W B 8

I11. %Wwﬁ%mﬁ%mﬁwﬁ%ﬁawm§|
IV. %@cﬁamﬁmm%@mmﬁwﬁmm%‘
(A) 5« I, I 3R M1 o 3

(B) e I, I 3R IV wet &

(C) F9@ I, I 3k v o &

(D) %ae I, I 3k v & &

T

Which of the following seas has hi
(A) Bering Sea (B) Baltic Sea
(}}j' Red Sea (D) Japan Sea
ﬁwﬁ%ﬁf@aﬁﬁﬁs@rwaﬁmmﬁm%?

(A) =T TmR

(C) & 9

gher salinity than normal?

(B) wifees gmr
(D) SMH EmR
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. Match Column—I with Column—II and choose the correct option : 1
| Column—I -~ Column—II

(a) Tropical hot and humid (i_) Mediterranean

() Dry climate "@) ‘Monsoon

() Warm temperate (iii) i Tundra

@@ Cold snow forest (1;/) ‘Steppes

(v) Taiga
Options :

B (e (B—Gv), G, (o)
B) (@—(i, (b—(iv), (), (d—0)
©) (a—iv), (G, (e, ()
D) (o)~ B—(), (), (@~ -

ﬁm-lwﬁanﬁm—nﬁaﬁrﬁqaﬁ{@ﬁmmwﬁm:

e e

(a) IomEpfeaefm mi 3t 3 (i) SEeEETE
(b) T SeEyg (i) T

() ™ Twsfiden (i) T

(@) M fen wfea = i) =

&) (@—(i), (b (i), (G, (@) —
B) (e, (b}—(iv), (c}—v), (@) (]
O ta)—(iv), )—Gi), (i) (A—(v)
D) (o), (b}—(v), (c)—(i), (d)}—(iii)
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8. Choose the correct option related to the group ofgributaricsioRlItUS River] 1

(A) Kosi, Beas, Gandak (B) Jhelum, Beas, Sutlej
, Sutle;
(C) Jhelum, Gandak, Ghaghra (g)/Gandak, Ghaghra, Sutlej
iy 7 6 TR ARE oy § efe v e w1 W Sl
(A) HE, ==, Tew (B) oM, SIH, HaeS
(C) 3™, 7w, HTER (D) TS, HTEI, HAS
9. Which of the following factors does not affect the climate of India? 1
(49~ Landform (B) Distance from sea
(C) Divergence of plates (D) Latitudinal position

fefeiea & & SF-w s TRa A ToEE B TG @ w27
(A) Y-3pia (B) #Hz & Tl
(C) wiet =1 fomem (D) e fRafa

10. Two statements are given below as Assertion (A) and Reason (R). Read both
the statements carefully and choose the correct option : 1

Assertion (A) :

To pay tribute to the bravery of forest personnel, the Government of
India celebrates ‘Forest Martyrs Day’ on 11 September.

Reason (R)

Awareness is an important measure for environmental protection.

(}‘KZ Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(B) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(C) (A) is correct and (R) is incorrect

(D) (A) is incorrect and (R) is correct

s« kymnati Educatiom gy
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23 3w QTR A SRR (A) o wwor (R) #1 2N et W eAEE T
aﬁ{g—ﬁﬁﬁmﬂwiﬁm

e (A) ¢

i & W B A W F R0 v wepm 11 Riawn #1 T T@iE E
7 (R)

e WO % A SRS U HEm 3 R

A A) I (R®) T A A (®), (A) T e T 2
B) 3 (A) M (R) T #1 3k (R), (A} v e 2

€) (A) & 2 3N (R) 7o &

D) () T § N (R) FE R

11, Which of the following rivers has the largest catchment area? 1
(A) Godavari = (BY Krishna
(C) Kaveri : (D) Narmada
(o) et —i (B Fm
) F=d =3 (D) T
12,

Choose the correct option related to the major Kharif crops from the
following Crops.

iV Rice, Mustard, Peas (B) Mustard, Maize, Sugarcane
(C) Sugarcane, Mustard, Cotton (D) Rice, Maize, Cotton
%Wﬁaw@mwﬁgmﬁawmmwm|
@A) o, W, T & (B) G, ",
©) ™, wwi, = (D) W, W, Fuw
b 1
Which of the following is a ferrousé_u_fﬁgtallic mineral? 1
) Copper "= (B) Pyrite |
) Tin (D) Zinc

e Unnati Eduaations...
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f=fafea & @ Sh-a oz wfes afis 27
(A) s (B) 4rsUise
(C) fm (D) e

14. The easternmost terminal station of the East-West Corridor is

(A) Itanagar (?} Kohima
(C) Silchar (D) Dispur
& -ufeay TR %7 geg oo <l RyA 2

(A) 3R (B) =hifeHT
(C) Fremr (D) TR

15. Hindi language belongs to which of the following language families?

(A) Austric (BL Sino-Tibetan
(C) Dravidian (D) Indo-Aryan
%ﬁwww&ﬁw&rﬁﬁﬁﬁ%ﬂwwﬁaﬂé%?

(A) e (B) <hh-foesch

(C) wfee ' (D) SeI-3mH

16. Which of the following States secured the highest rank in providing quali®s
of education?

(A) Jharkhand (B) West Bengal
) Kerala , (D) Odisha

Freffen § 3 few woa ¥ fven B o wew w0 # wdier wm W A 27
(A) smEe (B) ufeem smret
(C) = (D) sifeem

sAdnnati Educationgmm
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L study the given map carefully and answer the map-based questions
No (Question Nos. 17, 18, 19 and 20) :

pens ﬁqmmﬁ‘;*‘wﬁﬁa@?ﬁﬁnaﬁxmmwmwm 17, 18,
190 @@ 20 & IW :

Map of

(4) Rocky

©) Andes

“Unnati Educatigns....
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e T AR

(a) T

() © R
(D) eww

18. Identify
the w
arm water current marked
ed B’
on th
cm
ap.

(A) Norway
(C) Agulhas =
Alaska
(D
)/ Gulf Stre
am

g T 3
w 3 B T S@uTT $ IEEE
|

(A)

(C) e
(B) 31ei=nT
(D) &% iy

19, Identi
ntify the
evergree
n rai
rain forest biom
e mark
ed ‘C’
on th
€ map

(A) Ni
Nile Basin
@ C
ongo B
asin

(C) Vol
ga Region
(D) Am
azon Regi
gion

(C) dem &
- FHm S
o (D) 3T
(4) v € temper | g
i :dS g cand i
Owns -
ked D’
/) on the ma
R 3 i p.
[A ) ampas
T ST D) ey
(C m _a_qm r1€sS
g St &1 ggaH HINL
|
(B) HIH
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The following questions are for Visually Impaired Candidates in lieu of
Note Question Nos. 17, 18, 19 and 20.

fyg ¢ IS S $aA ettt whenPiE % fig s @en 17, 18, 19 3R 20 %

o[ W &l
17, Which of the following mountains is located in Europe? 1
() Rocky - (B) Ural
(C) Andes =-_f (D) Atlas
ﬁqmaaaaaq-mqﬁa@wafamg?
) T - - (B) T
) (D) wem
18. Which of the following is the warm water current of the Indian Ocean? 1
(A) Norway ' (B) Alaska
(C) Agulhas (D) Gulf Stream
ﬁw%%aﬁﬁaﬁq—%ﬁ%ﬁﬂmmﬁnﬁm%?
() A . (B) AR
(€) seeTa (D) ™ m
19, Which of the following is the South /{mérlcan evergreen rain forest biome? 1
(A) Nile Basin ~ (B) Congo Basin
(C) Volga Region e (D) Amazon Region
fefofen & & #-an ofiw e &1 dqEeR avieT a2
(4) His sfm (B) =M afm
€) e &= (D) 3WSH &%
2. Which of the following temperate grasslands is located in Afrlca'p
1
A) Steppes _:": (B) Downs
C) Velds ::: (D) Pampas
e 3 % - i aw A s R 47
W) g " (B) =R
© rgm " (D) duw

e Unnati Eduaations. -
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2?@““,& the following questions in I or 2 word(s) each -
' hy is a sub-branch of which b |
@) Oceanography ranch of geographys

Write the names of two major geographers who are cop:
Y founders of modern geography. Onsidereq as the

ﬁqﬁqﬁgﬁgﬁ%lmQQ@ﬁWﬁﬁﬂq;
(m)gﬁmﬂs@azﬁ%ﬂwﬁm%?
(@)ammﬁﬁwm,ﬁ%m@mmmmwm%,

n2. Answer the following questions by filling in the blanks with a |
words : PPropriate

1x2
(a) The process of breaking and degradation of tools or :
erosion by colliding with each other is called machinesyof

(b) The intensity of exogenous geomorphic processes depends on the type P
of rocks and their

Frferfian et 3 I 3 Wl g e T b1 gfd e i ;
(%) WA % WEH FYA W w1 AGE A THUR ged aur FE g b e

__ et 2 1
. - l
(@) =fesifia y-arphes shemat @ diga TgHl % THR I ITH L T
HA 2l
23. Match Col — i g
olumn—I correctly with Column—II :
Column—I Column—II
(Terms)

(When does it happen)

; (i) The earth is closest to the surn

P
-

moon and &

(i) Equal distance between the SULR
¢ from the earth

t'\fi) The moon’s orbit is farthes
: arth
v) Moon’s orbit is closest to the €

he sun

(¢) Perihelion«

(d) Aphelion-

: 8
(v) The earth is further away from

»AJnnati Educationgumml
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Fiem—] F1 g8 HaW Hiem—I1 § Hifvm .

HicTH—I . HieH—II
(T 312 “7% (9% %9 BT R)
(@) 3 (Afesh) () g @ T fee 2
b) ¥, (3rE) ), T g % e e
(c) ST (iii); a:gm H Fam g A GER AH B
(d) SFIER (iv) =z $i Fe gt A wwd fewe R

(v) 9=h gE @ e T R

24[ Answer the following questions in:J 'or 2 word(s) : 1x2=2

(a) The subtropical high- pressure: belt is located in the Northern and
Southern Hemispheres between Wh1ch latitudes?

(b) At which latitude is the subpolar low-pressure belt located in the
Northern and Southern Hem1spheres'p

P st % SR 1 2 Wl § A
(%) SR I=-g@ U 9w ol Mendt § 6 s % ne @ R0
(@) Iuye Fe-g@ 9 Iah wE ool Mot § few seim w e R

25. Read the given paragraph carefully and answer the following questions
in I or 2 word(s) each : 4 3 1x2=2

AquatiqiE_;f_tf;_osystem
On the ocean surface, shallow coﬁtiﬁental shelves are more productive
than other configurations of ocean ﬂoc;r and open oceans. Open oceans are
the least productive of all aquatic ecosystems They are like the deserts in
the terrestrial ecosystem. Some of the organisms exclusively live in water
whereas some of the organisms can live in water and on land, i.e., frogs,

crocodiles, hippopotamus, etc. Moreover, some organisms live either in

316/MAY/2U nnati Educmmimmﬁ [P.T.0.
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freshwater or saline water and some others live in freshwater and salin
water both.

(@) Which oceans are less productive?

(b) Write the names of any two organisms which can live both in water
and on land.

TeR e =i i g e s Rl sei % s 1 a1 2 W 3§ SR -

Wm%mmaﬁ,mﬁ%mﬁmﬁw@wﬁmm
%%l@éwmﬂwmﬁﬁﬁﬁﬁémwmsﬁﬁlﬁﬁmﬁ%
%Wvﬁ@ﬁﬁﬁﬁwﬁm%lwmmwﬁﬁﬁmﬁq@@
msﬁamﬁaﬁrmaﬁﬁr@miéﬁm,w,%ﬁmwﬁm
aﬁhﬁ%%ﬁﬁ%aﬁﬁﬁ@ﬁﬁawmémﬁm
Gﬂaméqmaﬂt@ﬁqm,ﬁﬁésﬁﬁaeaﬁ%

(%) HH-8 AR H0 ImEH B Fr
(@)%ﬁasﬁﬁ%m%ﬁmsﬁm@maﬁﬁmmél

26. Match Column—I correctly with Column—II :

Vax4=2
Column—I Column—II
(States) (Capital)
(a) Tripura ‘(i) Panaji
(b) Sikki/ i) Chandigarh

(c) Goz i) Itanagar

(d) Punja (iv) Agartala

(v) Gangtok

sooldpnati Educatiommmm
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Fiem—1 1 wE e Hrem—I § A

wie—I hicrH—II
(Tr=) (e
(a) BT ) () =Wﬁﬁ
(b) Rofem | (ii) :j%ﬁﬂa
() T (i) e
(d) TS (iv) i‘i%m
27. Answer the following questions by filling in the blanks with appropriate

words : 1x2=2
(a) Mangroves are practically _____ forests which have leathery leaves.

(b) Areas with annual rainfall less than 75 cm are characterized by
natural vegetation of and'shrubs

ﬁw%@au@%mww@ammmeﬁzﬁmw
() Hoifg eEms §9 4 a:r@ﬁ‘%ﬁﬁﬁ%ﬁnsﬁa%%

@) 75@@0@%%3&‘?3@%@% 3R wfet it wRiae
gt Bl &)

28. Answer the following questions in 1 or 2 word(s) : 1x2=2

(a) According to 2011 Census, what is the percentage of total rural
population in India? ™y _:

() Which State of India has the Pughest sex ratio?

ltﬂ

ﬁuriﬁaamﬁé:Wszmﬁﬁﬁ
(F) 2011 S FFUAT & IAIER, mﬁ@mwﬁmﬂuﬁm%?

(@)m%mmwmm%?

suvddNNAatl Educitioms
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Read the given paragraph carefully and answer the questions that follow
in 1 or 2 word(s) each : 1x2

Sex Ratio

Sex ratio refers to the number of females per thousand males of an area.
According to the Census of India 201 1, there were only 943 females per
thousand males. So sex composition in India is i'MIJ&/It_Ln_ea_n,s
there are less number of females than the number of males; When the
number of females is more than the males, it is said to be favourable. If
we analyze the data over a period of 100 years (1911-2011), it has been
observed that there has been steady decline of sex ratio in the country
€xcept some marginal increases in the 1951, 1981, 2001 and now in 2011.

(a) Define sex ratio.

(b) Define the term ‘avourable sex ratio’.

fou e s=ae ey ufee s fefalaa e S s 7 a1 2 Wit & Af -
e

formgara 1 31ef forelt & % it w9 gesi F gwme Rl i wem 21 2011 6 s

1 SO % FFER, AT ER GRNl % gwEe Rl i g 91 943 ot Id: WG

ﬁ%@m&@ﬁ%l%ﬁ%ﬁ%m%ﬁﬁmwm@mw

geui & gehree fodl H @En At Bt R}, @ 38 sgme we wn 21 9R = fow

1ooa1ﬁ(1911—2011)%5aﬁr@mﬁsﬁwﬁ,aﬁga@w%ﬁﬁaﬁ%ﬁm

et wear wr g @™ ad 1951, 1981, 2001 3R 3@ 2011 4 & To Ifed wi

(%) formauma =t gftnfya it

(@) ‘el fom a i 9GS

30. Answer the following questions in 1 or 2 word(s) each : 1x2=2
(a) Mention the main development goals of the mercantilism era.

(b) Mention the main development goal of Brundtland Commission.
Preferfiag oo & S 1 A1 2 Wsgi H G ¢

(%) aifirsTaTg T & Y@ faHhE T&di F1 3g@ S|

(@) siede T % gE fahE @5 +1 3gw FHifm)

- _JUnnati Educationgum
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‘Explain the process of weathering. 2

/" e B AR B W Hifv

32, Explain two main characteristics of the Indian desert. 1x2=2

m%ﬁmﬁammwaﬁaﬁaé?mu

33, Explain the difference between Andaman and Nicobar Islands and
/; Lakshadweep in two points. =

maﬂtﬁaﬁwm@wm@qﬁmﬁa%@ﬁﬁwml

34, “Water is the most precious gift of nature Explain the statement with
any two arguments. 1x2=2

‘wwﬁwmmm%r’%aaﬁmmwﬁwml

3}5. Explain the importance of ‘Operation Flood’ in two points. 1x2=2
RIS %mﬁaﬁgﬁﬁwﬁﬁql

37. On the given Outline Map of Indza— éhown in Page No. 25), mark and

label the following : eyt 1x2=2

qsmzsﬁﬁqmw%%@mﬁaﬁﬁwﬁr%aﬁm%ﬁ%ﬁmﬁﬁq
3R 376 T fafgu -

(@) The southernmost mountain range of the Himalayas
femmera & wed gflt weda Sof

(b) The highest peak of Karakoram
FAHHA 6 god =t A

Note : The following questions are for Visually Impaired Candidates only in lieu

of Question No. 36.

(@) Write the name of the so _ﬁaernm
Himalayas.

g
i

oSt mountain range of the

h

l!

(b) Write the name of the highest peak of Karakoram.

L W@wm@aﬁawmﬁﬁ%mmmss%wm%l
(%) femrerm & g=@ <ol vdq Swﬁamg;;%&m

(@) #usrm 6 g8 S 910 1 99 fakau)

316/MAY/2u n n ati Ed u lelmm,m [ P.T-O-
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37. On the given Political Outline Map of India (shown in Page No. 27), mar

: A ; 2=
the following with appropriate symbols and write their names : X
T8 & 27 H fiw M v 35 e Ye-AmRE w Frefiies @ sifed i 3
I A ﬁﬂﬁﬁq :

(a) Leading State in coffee production

FIH I F aht ey

(b) An oil refinery located in Bihar
feRR e w Yoo wwam

Note : The following questions ar

e for Visually Impaired Candidates only in lieu
of Question No. 37.

(@) Write the name of the leading State in coffee production.

(b) Write the name of the

place where an oil refinery is located
in Bihar.

few . ﬁw%ﬁgam%ﬁaqﬁm&auﬂaﬂﬁ%%qmmm%wﬁm%l
() FIhl I 7 upft U1 1 1w frfm

(@)mwmwm%rﬁaqaﬁﬁmﬁ@%mﬁmmmﬁémél

38. Describe two major ways of conserving biodiversity.

St fafeum % wew % @ wpw et & e i

1x2=2

39. Mention two major objectives of the Earth Summit in 1992, 1x2

1992 ¥ gt firen weiem % & wpw Ry w1 sp@ B

-4Jvhati Educatiomsimmm

1899436384, 965427927¢



- EEEE o— —

40. Answer the following questions on the basis of the given map : 1x2=2
i i e

e NDIAL
WILDLIFE SANCTUARIES

WN=

: 20 Ny

HIMi=y
=WI"N

(@ Identify the State which has t :
sancu?ll-ies. & as the largest number of wildlife

(b) Identify the Union Territory which has th :
wildlife sancturies. € maximum number of

sk ANATT EAUuGakions.-.
899436384, 9654279




(%) S8 T H vewm Bl Rl @ it s e 3
(@) S8 Fswfi sew A vem P Rl wwd s e svEre &
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T

Note : The following questions are for Visually Impaired Candidates only in lieu
of Question No. 40.

(@ Name the State which has the maximum number of wildlife
sanctuaries.

(b) Write the name of the Union ‘Territory which has the maximum
number of wildlife sanctuaries.

fiw : Frafafen o e gfbafim vhenPit-& fore s dom 40 % wH W E
(%) 30 T F T fRew el ge8 s s s 3
(@) 36 HsEi Sew w1 4 fafae el ged e =l e gl

41. Describe the importance of mountains in the world in three points. 1x3=3
fova o uddl % HEw w1 @ fagat # sl Hifvl

42. Explain the difference between land ‘r;ljcéze and sea breeze in three points.

1x3=3

wr it 3R g Wi d siw AR R § oen it

Or [/ J¥dar

Explain the relationship between mountain breeze and valley breeze in
three points.

ydd TRk qun =@ vk F sfte gew i @ faged § smen Hifvg

43. “The climate of an area is affected by its latitudinal position.” Justify this

statement by giving three arguments. 1x3=3
%m%aaﬁmwﬁamsﬁwﬁﬁﬁﬁm@?ﬁ%l”?ﬁaﬁmmw
1 g i) S
44. Explain the importance of road tranépert in India in three points. 1x3=3
W T EEd % wEw B A feged we i
Or | 371 e

Explain the importance of water transport in India in three points.

T H T ufged & "Ew W dA fagal # T Hif)

reynnati EducY¥ilis
. 9899436384, 96542




45. “The distribution of Scheduled Tribes in India is ununiform.” Justify thlix3—3
statement by giving three arguments. 3

T A g SR Ror e 21 R T 3 38 HE g il

-~

; }6- Explain, in five points, the relationship between a country’s natural
resources and its economic development. 1%x5=5

mﬁ%mmﬁmaﬁmm%m&twﬁﬁﬁaﬁﬁ
e iy
Or |/ 3&ar

Explain the achievements of Millennium Development Goals in five points.

mﬁmamﬁma%ﬁaﬁﬁaﬁgaﬁﬁmﬁﬁm

* % %
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